



Taking care of your guests and protecting the environment is possible with the **COTTON** dispensers: their use reduces the amount of waste and CO2 emitted into the atmosphere without renouncing to natural cosmetics.

• **COTTON** collection has a refreshing mint & lime fragance, a soft formula perfect for men and women.

- Tough and long-lasting holder.
- Hermetic system: don't allow stealing or product handling.
- Bottle capacity: 300ml / 10.1 fl.oz.
- Bottles are made of PET plastic and are 100% recyclable.
- Opaque bottle with transparent side window to check available product.
- English and Spanish labeling.
- **COTTON** has available small tubes and kraft paper accessories.







- TYPES OF HOLDERS AVAILABLES:
- $\cdot$  Single holder.
- $\cdot$  Double holder.
- $\cdot$  Triple holder.





## COTTON GALLONS AVAILABLE

#### COTTON 3,8 Liters:

- Bath gel.
- Shampoo.
- Shampoo & conditioner.
- Conditioner.
- $\cdot$  Body milk.
- $\cdot$  Hand wash soap.



ONDITIONER CONDICIONADOR

N

COTTON

4

MINT & LIME













## **TECHNICAL CARD AND ASSEMBLY**

Plastic holder with security key:

- · Moisture resistant.
- · Cannot be tampered with.
- · Attachment methods:
  - Screwed to the wall.
  - Fixed with adhesives.
- · Single holder: two anchorage points.
- · Doble holder: four anchorage points.
- Triple holder: four anchorage points.

# Method of use:

- 1 Anchor or fix the holder to the wall.
- 2 Introduce the security key into the slot located at the bottom of the holder and tighten firmly while pulling the semicircular piece to unlock it.
- 3 Remove the semicircular piece that holds the bottle necks in place.
- 4 Place the bottles on the base of the holder in the desired order.
- 5 Fit the semicircular piece into the neck of the bottles and press it in until you hear a "click" which will indicate that the holder is locked.















# CONSUMPTION TABLE

BLE	STATISTICAL No. of PULSATIONS	ML per PUSH	TOTAL ML per GUEST	APROXIMATE DAYS of DURATION
BATH GEL DISPENSER <b>300 ml</b>	11	1,108 ml	12,188 ml	24,6 days
SHAMPOO DISPENSER 300 ml	6	1,108 ml	6,648 ml	45,2 days
CONDITIONER DISPENSER 300 ml	4	1,108 ml	4,432 ml	67,8 days
SHAMPOO & CONDITIONER DISPENSER <b>300 ml</b>	6	1,108 ml	6,648 ml	45,2 days
BODY MILK DISPENSER <b>300 ml</b>	10	1,108 ml	11,080 ml	27,1 days
HAND WASH DISPENSER <b>300 ml</b>	7	1,108 ml	7,756 ml	38,8 days

